What is the affect of executing the following code on a PICIEETTA microcontroller?
banksel TRISE
mavlw B'0010000T
movwl PORTB
coml TRISB
VW EROUN
as output W @ |_ri

The value BTIONND appea
The value B00M0000T appe
RBO and RBS are configur
REO and RBS are configured as input

None of the othar choicas

The corract answer is:
RBO and RBS are configurad as output



Consider the circuit below. To display number 3 on the 7-segment display, assuming it is common cathode, we need to execute the following

il

el ]

TRESC = (¢
TRESD = O
PORTC = Obl0NK0000
PORTD = O

Mone of the other choices

TRISC = O
TRESD = O
PORTC = ObOI001E
PORTD =0

TRISC = O

TRISD = O F;
PORTC = ObOIGOTIN
PORTD = O

TRISC = ¢

TRISD = 0;

PORTC = ObOI1001IE
FORTD = FF

The correct answer is:

TRISC = 0
TRISD = O;
PORTC = Q000NN

PORTD = O



Assuming that the SEND _CHAR sand SEND_CMD subroutines are already available, the character that is stored in the CORAM when exscuting the following code on a PICIEFETTA connectad to an LCD contains
MOVLW XG5

CALlL send_crmd
CALL EUBI
MOVLW O

CalL =zend_char

MOVLW i
Call send_char

CALL ZUBI
ZLUBI MOVLW 3

MICVWT CHNT P
L MWL OxXIF

DECFSZ CHNT, F

SGOTOL

RETUREN

One dark rectangle in the middle of the character
Thrae dark rectongles on top of each other

Hone of the other choices

“  Two dark rectangles on top of each othar
Two dark rectangles beside eoch other

The correct answer isc Two dark rectangles on top of each other



The approximate delay generated when the following code is executed on a PICIBFETTA microcontroller that is running at 2 MHz is
choar CMT ;
CNT =10
while [CNT « 21)
{
_delay(no} ;
If (CHT==15 || CHT ==18]) {

_delay(50) ;

— ZPOWERGUN

063 msac

x

5.44 msec
0.66 meec
None of the given numbers
262 msec

136 msac

The cormact answesr is:
262 msac



For the following code, what is the logic aperation performed on the values in lecations X and ¥ te produce valus storad in location RES?

COMIF

X W
¥, W
TEMP
TEMP, W
X W
RES

o ORES = [d+Y) X

RES = [X¥) + ¥

Mone of the other choices
RES = [¥Y) +¥
RES = ['+¥) %

The corract answear is:

RES = [X'+¥]) X

70O

SROUIN



Far tha fnlt‘ming code, what is the arithrmetic operation performed on the values in locations X, ¥ and 2 to produce value stored in location RES?

MOWVLW oz
Lx  ADDWEF KW

DECFSZ ¥ F

GOTO Lx

ADDWF W
MOVWE RES

© mone of the other choices
RES = [X+12)*Z + 12+ ¥

RES=X*Z+12+Z
RES = [K+12)*Y +12 + Z

RES = ¥*Y +12 + £

The correct answer is:
RES =¥*¥ +12+ 2



‘Which of the following staterments is correct?

©  Writing thres EQU staterments in your programs consumes three memor y location in the program memo
All other stotements are wrong
You may need to perform context saving 5
Modular programming is used in cose we nee fviche thp i
The use of the ORG directive is optional with subroutines to specily the address o

subrouting

The corract answer is:
The use of the ORG directive is optional with subroutines to specify the address of the subroutine



Which of the following staterments is correct?

2 Pull-down resistors make sure that the voltage on the wire is low

SPST switchas can be used to supply
Regulators can be used to generate clock si

& simpla inverter can ba used for switch de-

Resonators can be wsed maintain a cons

The corract answer is:
Pull-down resistors moke sure that the voltage on the wire is low




Which of tha following statements is commect regarding MFLAE

Labals in MPLAB are nol case-sansitive

o0 Instroections are not cose-sensitive w
The binary numbering system is not availoblgin the W l i MR .
Al ather statarments ara wirang

Only programs that sxscute sequentially need the END directive

i
2
2
:
:
:
\{

The corract answer is:
Instructions are not case-sansitive



If the following code is executed while an LCD is connacted to the microcontroller, then which of the following stotements is true?
BOVLW D70
CAll send_cmid

o Belects location number & in CGRAM P P
Selacts location number 3 in CGRAK
Mone of the othar choices

Selocts location number 4 in CGRAM

Selacts location number & in CGRAKM

The correct answer is:
Salacts location numbear § in CGRAM



Drag and drop the correct instructions to complete the assembly program that corresponds to the following C code.

chiar CHT, X;
E=%«<];

CHT =X+ 3;

for (char ¥ = 0; ¥ < CNT; ¥=Y+2)

{
X=X+ CNT:

}
| BCF STATUS, C Iu’
| RLF X F [«
MOVLW 0X03
| ADDWF X, W |~.-f
| MOVWE  CNT |¢
CLRF ¥

LLL BTFSS STATUS, C | %
ADDWE X F
| INCF Y.F I-u"
INCF Y. F
MOVF CNT, W
| BCF STATUS, Z |x
| mowr  cnrw |
GOTO LLL

SUBWF

¥

|| BTFSC

STATUE C




The cormact answer is:

Drag and drop the correct instructions to complate the assembly program that corresponds to the following C code.

char CNT, X;
X=Meel;
CHNT =X +3:
for (char ¥ = 0; ¥ < CNT; Y=Y+2)
{
N=X+CNT;
}
[BCF sTATUS, C]
[RLF X, F]
ML ax03
[ADDWF X, W]
[MOVWE CHT]
CLRF ]
LLL [MOME CNT, W)
ADDWF X F
[INCF Y, F]
INCF ¥, F
MOV CNT, W
[SUBWF ¥, W]

[ETFSS STATUS, C]

OWEROUN



